@D Lily wrote the expression shown in the box below.

6x — 3

a. What is the coefficient of the variable in Lily’s expression?

b. What is the value of Lily’s expression when x = 5? Show or explain how you got
your answer.

Pedro wrote an expression that is equivalent to the statement shown in the box below.

8 more than the difference of 2x and 1

c. What could be the expression that Pedro wrote?

d. What is the difference of the value of Lily’s expression when x = 5 and the value of
Pedro’s expression when x = 5? Show or explain how you got your answer.



